              Worksheets for Slavin Economics Sixth Edition

These sheets can be torn out, photocopied, and distributed to your students. As your students are reading a chapter, they will be doing these problems. You can also tear out the answer sheets, photocopy them, and distribute them to your students.

Chapter 2
[image: image1.png]S90Ys

Shirts



Figure 1

1.
In Figure 1 place an A to show where our economy operated in 1933, a B to show where our economy operated in 1944, and a C to show an unemployment rate of 50%.
2.      In Figure 2 place a D to show where our economy usually operates, an E to

           show where our economy would operate during a very bad depression, and an F
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           to show an unemployment rate of 100%.

Figure 2

Chapter 2 Appendix 
Table A-1 Hypothetical Production Schedule for Two-product Economy

	Point
	Visits to Doctors
	Visits to Disney World

	A
	40
	0

	B
	37
	1

	C
	31
	2

	D
	23
	3

	E
	13
	4

	F
	0
	5


1. Given the information in Table A-1, what is the opportunity cost of going from point D to point E? What is the opportunity cost of going from point C to point B?

2. Use the data in Figure A-1 to illustrate the law of increasing costs numerically. (Hint: Start at point E and move toward point A.)
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Chapter 3 
Figure 1
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In Figure 1

(1)
How much is equilibrium price and quantity?

(2)
Draw another demand curve on this graph showing a decrease in demand.

(3)
How much is the new equilibrium price and quantity?

(4) We may conclude that a decrease in demand leads to a(n)_____ in equilibrium price and a(n)_____ in equilibrium quantity.

Figure 2
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In Figure 2

(1)
How much is equilibrium price and quantity?

(2)
Draw another demand curve on this graph showing a decrease in supply.

(3)
How much is the new equilibrium price and quantity?

(4) We may conclude that an increase in supply leads to a(n)_____ in equilibrium price and a(n)_____ in equilibrium quantity.

Figure 3
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Use Figure 3

3.
(a)
Is $2.50 a price ceiling or a price floor?


(b)
Is there a shortage or a surplus?


(c)
How much is it?

4.
(a)
Is $4.75 a price ceiling or a price floor?


(b)
Is there a shortage or a surplus?


(c)
How much is it?

Figure 4
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Use Figure 4

5.
(a)
Is $48 a price ceiling or a price floor?


(b)
Is there a shortage or a surplus?


(c)
How much is it?

6.
(a)  Is $30 a price ceiling or a price floor?


(b)
Is there a shortage or a surplus?


(c)
How much is it?

Chapter 5 
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Figure 1

1. When disposable income is 0, how much is consumption, saving, autonomous consumption, and induced consumption?

2. When disposable income is 2500, how much is consumption, saving, autonomous consumption, and induced consumption?

Figure 2
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3. When disposable income is 0, how much is consumption, saving, autonomous consumption, and induced consumption?

4. When disposable income is 2000, how much is consumption saving, autonomous consumption and induced consumption?

5.        Use the information in Table 1 to calculate the APC and the APS.

	Table 1

	Disposable Income
	Consumption

	$50,000
	$40,000


6. Use the information in Table 2 to calculate the APC and the APS.

	Table 2

	Disposable Income
	Saving

	$20,000
	$4,000


7. If Disposable Income rises from $50,000 to $70,000, and consumption rises from $40,000 to $55,000, calculate the MPC and the MPS.

8. If Disposable Income rises from $75,000 to $100,000 and savings rises from $5,000 to $10,000, calculate the MPC and the MPS.

Figure 3
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In Figure 3


(1)
How much are consumption and saving when disposable income is 2000?


(2)
How much are consumption and saving when disposable income is 4000?


(3)
How much are consumption and saving when disposable income is 6000?

Figure 4
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In Figure 4


(1)
How much are consumption and saving when disposable income is 3000?


(2)
How much are consumption and saving when disposable income is 6000?


(3)
How much are consumption and saving when disposable income is 9000?
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Figure 5

11. Use the information from Figure 5 to fill in Table 3.

	Table 3

	Disposable
	
	(Total)
	Autonomous
	Induced

	Income
	Saving
	Consumption
	Consumption
	Consumption

	2000
	
	
	
	

	4000
	
	
	
	

	6000
	
	
	
	


Figure 6
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12. Use the information in Figure 6 to fill in Table 4.

	Table 4

	Disposable
	
	(Total)
	Autonomous
	Induced

	Income
	Saving
	Consumption
	Consumption
	Consumption

	3000
	
	
	
	

	6000
	
	
	
	

	9000
	
	
	
	


Use your answers from Table 3 to solve these problems:

13. Find the APC and APS when disposable income is 4000.

14. Find the MPC and MPS when disposable income rises from 2000 to 4000.

Use your answers from Table 4 to solve these problems:

15. Find the APC and APS when disposable income is 9000.

16. Find the MPC and MPS when disposable income rises from 6000 to 9000.

Chapter 6 

[image: image14.png]9000

o))
o
o
o

Expenditures

3000

AV ELIC] ] ]|
HEEEEEENZEEEEeE T =alEEEEEN
it tlArr PP P fErEy
-!==-IEIIIIIIIIIIIIIIIIII
T IATTTTTT] EEEEEEN
IIIIHIIIIIIIIIIIIIIIIIIII
HENZEEEEEEEEEEEEEEEEEEEEn
e PP
HZ7ZSNEEEEEEEEEEEEEEEEEEEEn
ﬂII“IIIIIIIIIIIIIIIIIIIII

Disposible Income



Figure 1

In Figure 1

1.
How much is investment when disposable income is 2000?

2.
How much is investment when disposable income is 4000?

Figure 2
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In Figure 2

3.
How much is investment when disposable income is 6000?

4.
How much is investment when disposable income is 9000?

5.
If a corporation has $10 billion in preferred stock, $20 billion in common stock, and $40 billion in bonds,


(a)
How much is its capitalization?


(b)
Theoretically, how much would it take to control it?


(c)
Practically, how much would it take to control it?

6.
If a corporation has $400 million in common stock, $200 million in preferred stock, and $500 million in bonds,


(a)
How much is its capitalization?


(b)
Theoretically, how much would it take to control it?


(c)
Practically, how much would it take to control it?

Table 1

Date
Level of Inventory
January 1, 2004
$400 million

April 1, 2004
 430 million

September 1, 2004
 385 million

December 31, 2004
 395 million

7.
Given the information in Table 1, find inventory investment in 2004.

Table 2

Date
Level of Inventory
January 1, 2006
$75 million

July 1, 2006
93 million

December 31, 2006
86 million

8.
Given the information in Table 2, find inventory investment in 2006.

9.
If gross investment is 1200 and depreciation is 400, find net investment.

10. If net investment is 1500, indirect business taxes are 300, and depreciation is 500, find gross investment.

11. (a) How much was Gross Investment in 1929?

(b) How much did it fall to by 1932?

Hint: You’ll find the data in the inner front cover of the book.

Chapter 7 

Figure 1
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In Figure 1

1.
How much is government spending when disposable income is 2000?

2.
How much is government spending when disposable income is 6000?

Figure 2
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In Figure 2

3.
How much is government spending when disposable income is 3000?

4.
How much is government spending when disposable income is 9000?

5.
If Joe Smith pays taxes of $6,000 on a taxable income of $30,000, how much is his average tax rate?

6.
If Joyce Brownstein pays $15,000 taxes on a taxable income of $90,000, how much is her average tax rate?

7.
You have a chance to earn $2,000 in overtime, on which you will pay taxes of $440. How much is your marginal tax rate?

8.
Hans Christiansen's taxable income rises from $95,000 to $140,000, and his taxes rise from $17,000 to $35,000. How much is his marginal tax rate?

9.
If you were in the 28% federal personal income tax bracket, how much taxes would you have to pay on $20,000 of additional income?

10.
If you were in the 15% federal personal income tax bracket, how much taxes would you have to pay on $5,000 of additional income?

11.
How much Social Security tax would you have to pay if you earned $40,000?

12.
How much Social Security tax would you have to pay if you earned $10,000?

13.
Suppose you earned $20,000.


(a)
How much Social Security tax would you have to pay?


(b)
How much Medicare tax would you have to pay?


(c)
How much payroll tax would you have to pay?


(d)
How much payroll tax would you and your employer have to pay?

14.
Suppose you earned $50,000.


(a)
How much Social Security tax would you have to pay?


(b)
How much Medicare tax would you have to pay?


(c)
How much payroll tax wold you have to pay?

(d) How much payroll tax would you and your employer have to pay?

15. How much were federal government purchases in:

(a) 1932?

(b) 1939?

(c) 1944?

(d) Why did federal government purchases rise so much between 1936 and 1939?

(e) Why did federal government purchases rise so much between 1939 and 1944?

Hint: Use the data in the inner front cover of the book.

Chapter 8 

Use the data found on the inner front cover to answer questions 1 - 4.

1. Our net exports have been negative every year since _________?

2. The first year we had a trade deficit of over $100 billion was ________?

3. Since 1997 our trade deficit has risen by ____%

4. We ran our largest trade deficit in the year ________.

Chapter 9 
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Figure 1

1. Draw a C + I + G + Xn(line on Figure 1.

2. If GDP is $8 trillion, government transfer payments to individuals are $900 billion, indirect business taxes are 400 billion, and depreciation is $500 billion, find NNP and National Income.

3. If GDP = $9 trillion, government transfer payments to individuals = $1 trillion, indirect business taxes = $400 billion, and depreciation = $700 billion, find NNP and National Income.

4. If National Income = $5 trillion, depreciation = $600 billion, and indirect business taxes = $300 billion, find NNP and GDP.

5. If National Income = $6.4 trillion, depreciation = $500 billion, and indirect business taxes = $200 billion, find NNP and GDP.

6. Given: wages, salaries, and fringe benefits = $5 trillion; profits = $400 billion; interest = $300 billion; rent = $100 billion; and depreciation = $700 billion. How much is National Income?

7. Given: wages, salaries, and fringe benefits = $5.7 trillion; profits = $500 billion; interest = $250 billion; rent = $150 billion; and indirect business taxes = $400 billion. How much is National Income?

8. Given: wages, salaries, and fringe benefits = $6.1 trillion; interest = $400 billion; profits = $500; depreciation = $550 billion; rent = $150 billion; and indirect business taxes = $250 billion. Find National Income, NNP, and GDP.

9. Given: wages, salaries, and fringe benefits = $7.2 trillion; interest = $550 billion; profits = $300 billion; rent = $50 billion; indirect business taxes = $400 billion; and depreciation = $600 billion. Find National Income, NNP, and GDP.

10. Given: Consumption = $5.8 trillion; investment = $1 trillion; government spending = $1.2 trillion; indirect business taxes = $300 billion; imports = $650 billion; and exports = $550 billion. Find GDP.

11. Given: Consumption = $6 trillion; investment = $1.4 trillion; government spending = $1.3 trillion; depreciation = $600 billion; imports = $700 billion; and exports = $550 billion. Find GDP.

12. GDP rises from $6 trillion in 2001, the base year, to $12 trillion in 2008. The GDP deflator is 180. Find real GDP in 2008. Find the percentage increase in real GDP between 2001 and 2008.

13. GDP rises from $5 trillion in 1996, the base year, to $9 trillion in 2007, the current year. The GDP deflator is 150. Find real GDP in 2007. Find the percentage increase in real GDP between 1996 and 2007.

14. Find the Tobin and Nordhaus measure of economic welfare if GDP is $8 trillion, the economic bads are $600 billion, the regrettable necessities are $350 billion, and the sum of household, unreported, and illegal production is $1.2 trillion.

15. The Republic on Monmartre has a population of 8 million and a GDP of $560 billion. Find its per capita GDP.

16. The Duchy of Fenwick has a population of 150 million and a GDP of $4.5 trillion. Find its per capita GDP.

17. The Kingdom of Freedonia had a GDP of 500 and a population of 20 million in 1930. In 1940 its GDP rose to 1200 and its population rose to 21 million. In that year its GDP deflator was 200. Find real GDP in 1940 and find the percentage by which real GDP per capita rose from 1930 to 1940.

18. The Republic of New Africa had a GDP of $1 trillion in 2005 and a population of 30 million. In 2020 its GDP was $2 trillion and its population was 33 million. Its GDP deflator in 2020 was 150. Find per capita real GDP in 2020 and find the percentage it rose between 2005 and 2020.

Use data on the pages before the back cover of the book to answer questions 19 and 20.

19. (a) How much was Real GDP (in 1992 dollars) in 1929 and in 1933?

(b) By what percentage did Real GDP fall between 1929 and 1933?

20. Our Real GDP has risen every year since ______.

Chapter 10 

1. Label the graph in Figure 1 with respect to the three phases of the business cycle and the cycle turning points.
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Figure 1

2. Label the graph in Figure 2 with respect to the three phases of the business cycle and the cycle turning points.

Figure 2
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Figure 3
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How much was the GDP gap in (a) 2020? (b) 2034? and (c) 2040?

4. If 4 million people are collecting unemployment insurance benefits, 12 million people are officially unemployed, 113 million people are employed, and there are 2 million discouraged workers, (a) How many people are in the labor force? (b) What is the unemployment rate?

5. If 6 million people are collecting unemployment insurance benefits, 10 million people are officially unemployed, 140 million people are employed, and there are 3 million discouraged workers, (a) How many people are in the labor force? (b) What is the unemployment rate?

6. If the official unemployment rate is 8%, how much is the cyclical rate of unemployment?

7.
If the cyclical rate of unemployment is 4%, what is the official rate of unemployment?

8.
If the CPI rose is 234.1, by what percentage did the price level rise since the base year?

9. If the CPI is 302.7, by what percentage did the price level rise since the base year?

10.
If the CPI rose from 135.9 to 162.4, by what percentage did it rise?

11. If the CPI rose from 160 to 200, by what percentage did it rise?

12.
How much would the nominal interest rate be if the real rate of interest were 7 percent and the expected rate of inflation were 4 percent?

13. How much would the real rate of interest be if the nominal rate of interest were 15 percent and the expected rate of inflation were 9 percent?

14.
Use Table 1 to answer these questions:


(a)
How much did it cost this family to live in July 1994?


(b)
How much did it cost this family to live in July 2004?


(c)
If the base year were centered in July 1994, how much was the CPI in July 2004?


(d)
By what percentage did the cost of living rise over this ten year period?

Table 1

A.
July 1994

   Item
                    Quantity
  Price
Quantity ( Price
Car lease
  0.4
$300.00

Visit to doctor
  1.0
    50.00

Pound of Steak
  8.0
      2.50

Pair of jeans
  0.7
    30.00

Mortgage payment
  1.0
  850.00

Video rental
28.0
      2.00


Total

B.
July 2004

    Item
                     Quantity
  Price
Quantity ( Price

Car lease
  0.4
$400.00

Visit to doctor
  1.4
    70.00

Pound of Steak
  8.0
      3.00

Pair of jeans
  0.7
    40.00

Mortgage payment
  1.0
1000.00

Video rental
28.0
      2.00


Total

15.
Use Table 2 to answer these questions:


(a)
How much did it cost this family to live in December 1999?


(b )
How much did it cost this family to live in December 2009?


(c)
If the base year were centered in December 1999, how much was the CPI in December 2009?


(d)
By what percentage did the cost of living rise over this ten year period?

Table 2

A.
December 1999

    Item
                       Quantity
Price
Quantity ( Price
Car lease
  0.5
$250

Visit to doctor
  1.2
    60

Motel rental
  3.6
    40

Health club fee
  1.0
    25

Pair of shoes
  0.4
    60

Quart of milk
40.0
      0.80

Mortgage payment
  1.0
  750


Total

B.
December 2009

    Item
                     Quantity
Price
Quantity ( Price
Car lease
  0.5
$380

Visit to doctor
  1.2
    85

Motel rental
  3.6
    55

Health club fee
  1.0
    45

Pair of shoes
  0.4
    70

Quart of milk
40.0
      1.00

Mortgage payment
  1.0
1000


Total

16.
Use Table 3 to answer these questions:


(a)
In what year did disinflation begin?

(b) In what year did deflation begin?

Table 3

Year
CPI
1900
100.0

1901
105.0

1902
110.8

1903
117.4

1904
127.9

1905
134.8

1906
138.0

1907
140.1

1908
140.4

1909
140.4

1910
139.6

1911 135.7

17.
Use Table 4 to answer these questions:


(a)
In what year did disinflation begin?

(b) In what year did deflation begin?

Table 4

Year
CPI
2009
150.0

2010
158.2

2011
171.2

2012
189.5

2013
210.6

2014
222.9

2015
230.3

2016
234.9

2017
236.1

2018
237.0

2019
237.0

2020
235.7

2021 233.1

18. If the unemployment rate were 7.3%, the rate of inflation were 5.9%, and the real rate of interest were 4.5%, how much is the misery index?

19. If the real rate of interest is 6.0%, the unemployment rate is 7.9%, and the rate of inflation is 4.1%, how much is the misery index?

20. Between 1925 and 2000, in which year did the Consumer Price Index (a) fall the most? (b) rise the most.

21. How many years since 1925 have we had double-digit (10 percent or more) inflation?

22. How many years since 1925 have we had deflation?

Chapter 12 

Figure 1
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Use this graph to answer the following questions:

1. Is this an inflationary gap or a deflationary gap?

2.
How much is it?

3. What two fiscal policy measures do you recommend to remove it?

4.
How much is the multiplier?

Figure 2
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Use this graph to answer the following questions:

5. Is this an inflationary gap or a deflationary gap?

6.
How much is it?

7. What two fiscal policy measures do you recommend to remove it?

8. How much is the multiplier?

9.
When the MPC is .6, how much is the multiplier?

10.
When the MPC is .2, how much is the multiplier?

11.
If C rises by $40 billion and the multiplier is 7, what happens to the level of GDP?

12. If G falls by 20 and the multiplier is 4, what happens to the level of GDP?

13. If GDP is $6 trillion, the multiplier is 9, and I rises by 20, what is the new level of GDP?

14.
If GDP is $8.9 trillion, the multiplier is 6, and C falls by 30, what is the new level of GDP?

15.
If GDP is $9 trillion, the MPC is .5, and I rises by 30, what is the new level of GDP?

16.
If GDP is 7500, the MPC is .8, and G falls by 20, what is the new level of GDP?

17. If equilibrium GDP is $200 billion greater than full-employment GDP and there is a inflationary gap of $50 billion, how much is the multiplier?

18.
If full-employment GDP is $300 billion greater than equilibrium GDP and there is a deflationary gap of $60 billion, how much is the multiplier?

19.
If full-employment GDP is $2 trillion greater than equilibrium GDP and the multiplier is 5, how much is the deflationary gap?

20.
If equilibrium GDP is $2 trillion greater than full-employment GDP and the multiplier is 4, how much is the inflationary gap?

21.
Suppose that Mr. Kemp and Mr. Gore each have MPCs of .8. If Mr. Kemp receives one thousand dollars of income, (a) how much of that would he be expected to spend? (b) If Mr. Gore receives all of the money that Mr. Kemp spent, how much would Mr. Gore be expected to spend?

22. If Mr. Gingrich receives $100,000 from his newly created government contract and give Mr. Gephardt $50,000 for doing some political research, and then Mr. Gephardt gives Mr. Clinton $25,000 for setting up some political focus groups, and assuming everyone else in the nation has the same spending pattern, (a) How much is the multiplier? (b) If $10 billion of new investment had been made, by how much would our GDP rise?

Chapter 12 Appendix 

1.
If we had a budget deficit of $115 billion and an unemployment rate of 8 percent, would we have a full-employment surplus or deficit? Of how much?

2.
If we had a budget deficit of $185 billion and an unemployment rate of 9 percent, would we have a full-employment surplus or deficit? Of how much?

3.
If the unemployment rate were 6.5 percent, how large should our deficit be?

4.
If the unemployment rate were 8.5 percent, how large should our deficit be?

5.
Given: tax receipts of 1800; government spending of 1900; and an unemployment rate of 7.5 percent. (a) How much is the actual deficit? (b) How much is the full-employment budget deficit or surplus?

6.
Given: tax receipts of 1750; government spending of 1930; and an unemployment rate of 11 percent. (a) How much is the actual deficit? (b) How much is the full-employment budget deficit or surplus?

Chapter 13 

1. If M2 is 4000, small-denomination time deposits are 500, large-denominatin time deposits are 400, money market mutual funds held by individuals are 200, and money market mutual funds held by institutions are 300, find M3.

2. if M3 is 6000, small-denomination time deposits are 500, large-denomination time deposits are 800, money market mutual funds held by individuals are 400, and money market mutual funds held by institutions are 700, find M2.

3. If M1 is 3000, savings deposits are 1000, small-denomination time deposits are 300, money market mutual funds held by individuals is 400, and money market mutual funds held by institutions is 200, find M2.

4. If M2 is 7000, savings deposits are 1100, small-denomination time deposits are 800, money market mutual funds held by individuals is 500 and money market mutual funds held by institutions is 600, how much is M1?

5. A goldsmith has 2000 gold coins in his safe and 2000 receipts circulating. (a) How much are his outstanding loans and what is his reserve ratio? (b) the goldsmith lends out 200 of his coins. What is his reserve ratio?

6. A goldsmith has 200 gold coins in his safe. If there are 500 receipts in circulation, how much is his reserve ratio? 

Chapter 14 

1. If you ran a bank with demand deposits of $35 million, you would need to hold reserves of how much?

2. If you ran a bank with time deposits of $1 billion, you would need to hold reserves of how much?

3. If there were a 20 percent reserve requirement, how much would the reserve multiplier be?

4. Using your answer in the previous problem, if the Federal Reserve increased bank reserves by $100 million, by how much would the money supply rise?

5. How much is the interest rate on a bond that has a face value of $1,000, a selling price of $800, and that pays $80 interest?

6. If a bank has reserves of $35 million and demand deposits of 300 million, how much are the bank’s (a) required reserves? (b) excess reserves?

7. If a bank has reserves of $100 million and demand deposits of $850 million, how much are the bank’s (a) required reserves? (b) excess reserves?

Chapter 15 

1. If M were 800 and V were 9, how much would PQ be?

2.
If P were 7 and Q were 1200, how much would MV be?

3.
If M were 900, V were 5, and P were 9, how much would Q be?

4.
If V were 8, P were 6, and Q were 1200, how much would M be?

5.
According to the crude quantity theory of money, if M were to increase by 8 percent, what would happen to V, P, and Q?

6.
Initially M = 500, V = 8, P = 4, and Q = 1000. According to the crude quantity theory of money, if M rose to 600, how much would V, P, and Q be?

Chapter 16 

1.  (a)
Fill in the marginal output column of Table 1.

Table 1

Number of
Total
Marginal

Workers
Output
Output
0
    0

1
    2
  ___

2
    5
  ___

3
    9
  ___

4
  13
  ___

5
  16
  ___

6
  18
  ___

7
  19
  ___

8
  19
  ___

9
  18
  ___

10
  16
  ___

(b) Diminishing returns set in with the ____ worker.

(c) Negative returns set in with the ____ worker.

2. (a)  Fill in the marginal output column of Table 2.

Table 2

Number of
Total
Marginal

Workers
Output
Output
 0
   0

 1
   3
  ___

 2
   7
  ___

 3
  12
  ___

 4
  17
  ___

 5
  21
  ___

 6
  24
  ___

 7
  25
  ___

 8
  26
  ___

 9
  26
  ___

10
  25
  ___

11
  23
  ___

12
  19
  ___

13
  11
  ___

(b) Diminishing returns set in with the ____ worker.

(c) Negative returns set in with the ____ worker.

Chapter 17 
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Figure 1

Use Figure 1

Use choices A through D to answer each of these questions:

A.
change in quantity demanded

B.
change in demand

C.
increase in demand

D. decrease in demand

1.
A move from J to K is _____?

2. A move from K to L is _____?

3.
A move from L to M is _____?

4.
A move from M to N is a _____?

5.
A move from N to O is a _____?
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Figure 2

Use Figure 2

Use choices A through D to answer each of these questions:

A.
change in quantity demanded

B.
change in demand

C.
increase in demand

D. decrease in demand

6.
A move from J to K is _____?

7.
A move from K to L is _____?

8.
A move from L to M is _____?

9.
A move from M to N is a _____?

10.
A move from N to O is a _____?

Figure 3
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Use Figure 3

Use choices A through D to answer each of these questions:

 A.
change in quantity supplied

 B.
change in supply

 C.
increase in supply

D. decrease in supply

 11.
A move from J to K is ____?

 12.
A move from K to L is ____?

 13.
A move from L to M is ____?

 14.
A move from M to N is a ____?

 15.
A move from N to O is a ____?
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Figure 4

Use Figure 4

Use choices A through D to answer each of these questions:

A.
change in quantity supplied

B.
change in supply

C.
increase in supply

D. decrease in supply

16. A move from J to K is ____?

17.
A move from K to L is ____?

18.
A move from L to M is ____?

19.
A move from M to N is a ____?

20.
A move from N to O is a ____?

21.
(a)
Use the data in Table 1 to draw the graph of a demand curve and a supply curve on your own piece of graph paper. Be sure to label both curves and both axes.

(b) How much is equilibrium price and equilibrium quantity?

Table 1


Quantity
Quantity

Price
Demanded
Supplied

$15
  1
23

  14
  2
17

  13
  5
10

  12
10
  4

  11
14
  2

  10
17
  1

22.
(a)
Use the data in Table 2 to draw the graph of a demand curve and a supply curve on your own piece of graph paper. Be sure to label both curves and both axes.


(b)
How much is equilibrium price and equilibrium quantity?

Table 2


Quantity
Quantity

Price
Demanded
Supplied
$20
  2
37

  19
  4
33

  18
  7
26

  17
11
18

  16
16
10

  15
22
  4

  14
30
  2

23. Given the information in Table 3, make your best estimate of equilibrium price and quantity. you don’t need to draw a graph.

Table 3

	Price
	Quantity Demanded
	Quantity Supplied

	$13
	25
	31

	12
	30
	22
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Figure 5
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24.
Using the graph in Figure 5, draw a demand curve, D1, and a supply curve, S1, and write down the equilibrium price and quantity. Then draw another demand curve, D2, that shows an increase in demand, and a new supply curve, S2, that shows an increase in supply. Then write the new equilibrium price and quantity. 
Figure 6

25.
Using the graph in Figure 6, draw a demand curve, D1, and a supply curve, S1, and write down the equilibrium price and quantity. Then draw another demand curve, D2, that shows a decrease in demand, and a new supply curve, S2, that shows an increase in supply. Then write the new equilibrium price and quantity.

Chapter 18 

For problems 1–3: (a) calculate elasticity, and (b) state how elastic demand is.

1. Price is increased from $20 to $21 and quantity demanded falls from 10 to 9.

2. Price is lowered from $40 to $39 and quantity demanded rises from 7 to 8.

3. Price is lowered from $20 to $19 and quantity demanded rises from 100 to 105.

4. Draw a graph of a perfectly elastic demand curve and use the elasticity formula to measure its elasticity.

5. Draw a graph of a perfectly inelastic demand curve and use the elasticity formula to measure its elasticity.

Figure 1
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6. In Figure 1


(a)
How much is the tax?


(b)
How much of the tax is borne by the buyer?


(c)
How much of the tax is borne by the seller?

Figure 2

[image: image31.png]



7. In Figure 2


(a)
How much is the tax?


(b)
How much of the tax is borne by the buyer?

(c) How much of the tax is borne by the seller?

8. If elasticity of demand is 3 and the price is raised form $100 to $110, by what percentage will quantity demanded fall?

9. If elasticity of demand is .5 and the price is lowered from $10 to $9, by what percentage will quantity demanded rise?

10. If elasticity of demand is 1 and the price is raised from $100 to $101, by what percentage will quantity demanded fall?

Chapter 19 

Table 1


 Quantity
Marginal
Total

Price
Demanded
  Utility
Utility
$12
      1

  10
      2

    7
      3

    5
      4

    3
      5

    2
      6

1.
(a)
What is your total utility from five units?


(b)
What is your marginal utility from the fifth unit?


(c)
If the price is $2, how much is your consumer surplus?


(d)
What is your total utility from three units?


(e)
What is your marginal utility from the third unit?

(f) If the price is $5, how much is your consumer surplus?

Table 2


  Quantity
Marginal
Total

Price
Demanded
  Utility
Utility

$7.50
      1

  6.50
      2

  5.00
      3

  4.00
      4

  2.50
      5

  1.00
      6

  0.25
      7

2.
(a)
What is your total utility from four units?


(b)
What is your marginal utility from the fourth unit?


(c)
If the price is $5, how much is your consumer surplus?


(d)
What is your total utility from six units?


(e)
What is your marginal utility from the sixth unit?

(f) If the price is $2.50, how much is your consumer surplus?

Chapter 20 

Table
1

                    Variable
Total     Marginal

Output
Cost
Cost
Cost

1
$100

2
  180

3
  240

4
  320

1.
(a)
If fixed is $100, fill in Table 1.


(b)
How much is total cost when output is 0?

Table 2

                    Variable
Total      Marginal

Output
Cost
Cost
Cost

1
$150

2
  220

3
  300

4
  410

2.
(a)
If fixed cost is $200, fill in Table 2.

(b) How much is total cost when output is 0?

3. A firm has prospective sales of $50 million, fixed costs of $60 million, and variable costs of $40 million. What does the firm do (a) in the short run? (b) in the long run?

4.
A firm has prospective sales of $10 million, fixed costs of $5 million, and variable costs of $11 million. What does the firm do (a) in the short run? (b) in the long run?

5.
A firm has prospective sales of $15 million, fixed costs of $6 million, and variable costs of $8 million. What does the firm do (a) in the short run? (b) in the long run?

Table 3



               Average
Average
Average

                    Variable
Total
Fixed
Variable
Total     Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost

1
100

2
180

3
240

4
316

5
410

6
520

7
665

6.  If fixed cost is $200, fill in Table 3. Work out your answers to the nearest cent.
Table 4


Average
Average
Average

                    Variable
Total
Fixed
Variable
Total    Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
200

2
300

3
380

4
450

5
530

6
630

7
770

8
990

7.
If fixed cost is $300, fill in Table 4. Work out your answers to the nearest cent.

8. Use your answers from Table 3 to draw a graph of that firm's marginal cost, average variable cost, and average total cost curves. (Hint: Draw the MC curve first.)

9.
State the minimum points of the AVC and ATC curves in dollars and cents.

10.
Use your answers from Table 4 to draw a graph of that firm's marginal cost, average variable cost, and average total cost curves.

11.
State the minimum points of the AVC and ATC curves in dollars and cents.

Table 5




Average
Average
Average

                   Variable
Total
Fixed
Variable
Total     Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
  500

2
  800

3
1000

4
1300

5
1800

6
2600

7
3900

12.
Given: Fixed cost = $1000; price = $600. (a) Fill in Table 5 to the nearest cent. (b) Draw a graph of the MC, AVC, ATC, Demand, and Marginal Revenue curves (the Demand and Marginal Revenue curves are identical). (c) Calculate total profit. (d) State in dollars and cents the minimum points of the AVC and ATC curves.

Table 6




Average
Average
Average


Variable
Total
Fixed
Variable
Total
Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
  50

2
  80

3
100

4
120

5
145

6
190

7
250

8
340

13. Given: fixed cost = $100: price = $50. (a) Fill in Table 6 to the nearest cent. (b) Draw a graph of the MC, AVC, ATC, Demand, and Marginal Revenue curves. (c) Calculate total profit. (d) State in dollars and cents the minimum points of the AVC and ATC curves.

14.  (a)
Fill in the marginal output column of Table 7.

Table 7

Number of
Total
Marginal

Workers
Output
Output
0
  0

1
  2
___

2
  5
___

3
  9
___

4
13
___

5
16
___

6
18
___

7
19
___

8
19
___

9
18
___

10
16
___

(b)
Diminishing returns set in with the ____ worker.

(c)
Negative returns set in with the ____ worker.

15.  (a) Fill in the marginal output column of Table 8.

Table 8

Number of
Total
Marginal

Workers
Output
Output

  0
  0

  1
  3
___

  2
  7
___

  3
12
___

  4
17
___

  5
21
___

  6
24
___

  7
25
___

  8
26
___

  9
26
___

10
25
___

11
23
___

12
19
___

13
11
___

(b) Diminishing returns set in with the ____ worker.

(c) Negative returns set in with the ____ worker.

Chapter 21 

Using the information in Figure 1, answer questions 1–3:
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1.
What will the firm do in the short run if the price is


(a)
$14?


(b)
$10?

(c) $7?

2.
What will the firm do in the long run if the price is


(a)
$14?


(b)
$10?

(c) $7?

3.
What will the firm do in the short run and in the long run if the price is


(a)
$13?


(b)
$9?


(c)
$6?

Using the information in Figure 2, answer questions 4–6:
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4.
What will the firm do in the short run if the price is


(a)
$7?


(b)
$5?

(c) $3?

5.
What will the firm do in the long run if the price is


(a)
$7?


(b)
$5?

(c) $3?

6.
What will the firm do in the short run and in the long run if the price is


(a)
$8?


(b)
$4.50?

(c) $3.50?

Using the information in Figure 3, answer questions 7–11:
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7. What is the lowest price the firm would accept in the short run?

8.
What is the lowest price the firm would accept in the long run?

9.
On Figure 3, label the shut-down and break-even points.

10.
On Figure 3, label the short-run and long-run supply curves.

11.
Fill in Table 1.

Table 1

If price 
What would the firm do in the
Output in the 

were

(a) short run?
    (b) long run?
 short run

$16



  12



  10



    8



Table 2

If price 
What would the firm do in the
   Output in the 

  were

(a) short run?
    (b) long run?
      short run
$7

__

  6

__

  5

__

  4

__
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Using the information in Figure 4, answer 12–16:

12.
What is the lowest price the firm would accept in the short run?

13.
What is the lowest price the firm would accept in the long run?

14.
On Figure 4, label the shut-down and break-even points.

15.
On Figure 4, label the short-run and long-run supply curves.

16.
Fill in Table 2.

17.
Answer parts (a)–(e):

Assume fixed cost of $20 and a price of $15.

Table 3




Average
Average
Average


Variable
Total
Fixed
Variable
Total
Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
10







2
15







3
18







4
22







5
28







6
39







7
56







(a) Fill in Table 3.

(b) On a piece of graph paper draw the demand, marginal revenue, marginal cost, average variable cost, and average total cost curves. Label the shut-down and break-even points, and the short-run and long-run supply curves.

(c) Answer each of these questions:


(1)
In the short run, the lowest price the firm would accept would be $ _____.


(2)
In the long run, the lowest price the firm would accept would be $_____.


(3)
The firm's most efficient output is _____.

(4) The output at which the firm will produce is _____.

(d) Calculate total profit.


(e)
Fill in Table 4.

Table 4

If price 

What would the firm do in the
     Output in the 

  were

      (a) short run? 
(b) long run?
         short run
$4

____________

  8

____________

10

____________

11

____________

18.
Answer parts (a)–(e)

Assume fixed costs of $300 and a price of $220.

Table 5




Average
Average
Average


Variable
Total
Fixed
Variable
Total
Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
200







2
350







3
450







4
580







5
760







6
1000







7
1400







(a) Fill in Table 5.


(b)
On a piece of graph paper draw the demand, marginal revenue, marginal cost, average variable cost, and average total cost curves. Label the shut-down and break-even points, and the short-run and long-run supply curves.

(c) Answer each of these questions:


(1)
In the short run, the lowest price the firm would accept would be $_____.


(2)
In the long run, the lowest price the firm would accept would be $_____.


(3)
The firm's most efficient output is _____.

(4) The output at which the firm will produce is _____.


(d)
Calculate total profit.


(e)
Fill in Table 6.

Table 6

If price 
What would the firm do in the
Output in the 

  Were  
(a) short run?
    (b) long run?
   short run
$250



  180



  145



  130



Table 7

Output
Price
Total Revenue
Marginal Revenue
1
$4

2
  4

3
  4

4
  4

5
  4

6
  4

7
  4

19.
(a)
Fill in the total revenue and marginal revenue columns of Table 7.


(b)  Draw a graph of the firm's demand and marginal revenue curves (actually the same curve) on a piece of graph paper.

Chapter 22 

Answer this set of questions for Figure 1, 2, 3, and 4:

1. How much is output?

2.
How much is total profit?

3.
How much is the most efficient output?

4. What is the firm's price in the long run?
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Figure 1
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Figure 2
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Figure 3
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Figure 4

Convert Figure 5 from the short run to the long run by drawing a new Demand and Marginal Revenue curve in 5-A and a new industry supply curve in 5B.
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Figure 5

Convert Figure 6 from the short run to the long run by drawing a new Demand and marginal Revenue curve in 6-A and a new industry supply curve in 6B.
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Figure 6

Chapter 23 
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1.

(1) Calculate firm's profit or loss

(2)
If this firm were a perfect competitor, what is the lowest price it would accept in the long run?
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2.

(1) Calculate firm's profit or loss

(2)
If this firm were a perfect competitor, what is the lowest price it would accept in the long run?

3.

a. Calculate total profit or loss.
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If firm were a perfect competitor in the long run, state its price and output.

4.

a. Calculate total profit or loss.
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If firm were a perfect competitor in the long run, state its price and output.

5.
(a)
Fill in Table 1.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and 
average total cost curves.


(c)
Calculate the firm's total profit or total loss.

(d) If this firm were a perfect competitor, what would be the lowest price it would accept in the long run?

Table 1



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
    Cost
1
$33


$30




2
  31


  45




3
  29


  55




4
  27


  61




5
  25


  66




6
  23


  72




7
  21


  81




8
  19


  96



6.
(a)
Fill in Table 2.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit or total loss.

(d) If this firm were a perfect competitor, what would be the lowest price it would accept in the long run?

Table 2



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$20


$30



2
  19


  50



3
  18


  62



4
  17


  72



5
  16


  84



6
  15


103



7
  14


133



8
  13


178



7.
(a)
Fill in Table 3.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and 
average total cost curves.


(c)
Calculate the firm's total profit or total loss.

(e) If this firm were a perfect competitor, what would be the lowest price it would accept

                 in the long run?

Table 3



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
Cost
1
$16


$20



2
  15


  30



3
  14


  38



4
  13


  48



5
  12


  62



6
  11


  84



7
  10


117



8
    9


168



Chapter 24 

1.
(a)
Draw the graph of a monopolistic competitor making a profit.


(b)
Calculate the profit.


(c)
Is the firm in the short run or the long run?


(d)
If the firm were a perfect competitor in the long run, what would be the lowest price it would accept?

2.
(a)
Draw the graph of a monopolistic competitor taking a loss.


(b)
Calculate the profit.


(c)
Is the firm in the short run or the long run?


(d)
If the firm were a perfect competitor, what would be the lowest price it would accept?

3.
(a)
Draw the graph of a monopolistic competitor in the long run.


(b)
Calculate the profit.


(c)
If the firm were a perfect competitor in the long run, what would be the lowest price it would accept?

Chapter 25 

1. Given the information in Table 1, (a) calculate the concentration ratio, and (b) calculate the Herfindahl-Hirschman index.

Table 1

Firm
Market Share
A
  20%

B
  20

C
  15

D
  10

E
  10

F
    5

G
    5

H
    5

I
    5

J
   5


100%

2. Given the information in Table 2, (a) calculate the concentration ratio, and (b) calculate the Herfindahl-Hirschman index.

Table 2

Firm
Market Share
A
  40%

B
  20

C
    5

D
    5

E
    5

F
    5

G
    5

H
    5

I
    5

J
    5

100%

3.
(a)
Fill in Table 3.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.


(d)
If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 3



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$30


$30



2
  29


  54



3
  28


  79



4
  26


107



5
  24


140



6
  22


180



7
  20


232



8
  18


304



4.
(a)
Fill in Table 4.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.


(d)
If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 4



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$100


$100



2
    98


  178



3
    96


  249



4
    94


  335



5
    90


  430



6
    86


  540



7
    82


  670



8
    78


  840



Chapter 25 Appendix 
1.
(a)
Fill in Table 1.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.

      (d)  If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 1



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$30


$30



2
  29


  54



3
  28


  79



4
  26


107



5
  24


140



6
  22


180



7
  20


232



8
  18


304



2.
(a)
Fill in Table 2.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit.

(d) If the firm were a perfect competitor, what is the lowest price it would charge in the long run?

Table 2



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
    Cost
1
$100


$100



2
    98


  178



3
    96


  249



4
    94


  335



5
    90


  430



6
    86


  540



7
    82


  670



8
    78


  840



Chapter 27 

1.
(a)
Fill in Table 1.

(b) Diminishing returns sets in with the _____ unit of land.


(c)
Negative returns sets in with the _____ unit of land.
Table 1




    Marginal

Units of

    Physical

Land
Output
    Product

1
  1



2
  3



3
  7



4
11



5
14



6
16



7
17



8
18



9
17



10
15


2.
(a)
Fill in Table 2.


(b)
Diminishing returns sets in with the _____ unit of labor.


(c)
Negative returns sets in with the _____ unit of labor.

Table 2




     Marginal

Units of
 
     Physical

Labor
Output
      Product

1
  2



2
  5



3
10



4
16



5
22



6
27



7
31



8
34



9
36



10
37



11
36



12
33


3.
(a)
Fill in Table 3.


(b)
Diminishing returns sets in with the _____ unit of labor.

(c) Negative returns sets in with the _____ unit of labor.


(d)
How many workers would you hire if the wage rate were:


(1)
$40?


(2)
$24?


(3)
$15?


(4)
$6?


(5)
$3?

Table 3





Marginal

  Total
   Marginal

Units of

Physical

Revenue       Revenue

Labor
Output
Product
Price
Product
    Product

  1
  5

6




  2
11

6




  3
16

6




  4
20

6




  5
23

6




  6
25

6




  7
26

6




  8
26

6




  9
25

6




10
23

6




4.
(a)
Fill in Table 4.

(b) Diminishing returns sets in with the _____ unit of land.


(c)
Negative returns sets in with the _____ unit of land.


(d)
How many units of land would you hire if the rent for each unit were:


(1)
$150?


(2)
$120?


(3)
$80?


(4)
$30?


(5)
$20?

Table 4







Marginal

Total
   Marginal


Units of

Product

Revenue
   Revenue

 Land
Output
Product
Price
Product
    Product

  1
  3

20




  2
  7

20




  3
12

20




  4
18

20




  5
24

20




  6
29

20




  7
33

20




  8
36

20




  9
37

20




10
37

20




11
36

20




12
34

20



5.
(a)
Fill in Table 5.


(b)
Diminishing returns sets in with the _____ unit of land.

(c) Negative returns sets in with the _____ unit of land.


(d)
How many units of land would you hire if the rent for each unit were:


(1)
$250?

(3)
$106

(5) $58


(2)
$205?

(4) $80

Table 5





Marginal

Total
Marginal

Units of

Physical

Revenue
Revenue


 Land
Output
Product
Price
Product
Product

  1
  4

50




  2
  9

48




  3
15

45




  4
22

40




  5
29

34




  6
35

31




  7
40

29




  8
43

26




  9
45

24




10
46

23




11
46

23




12
45

—




6.
(a)
Fill in Table 6.

(b) Diminishing returns sets in with the _____ unit of labor.


(c)
Negative returns sets in with the _____ unit of labor.


(d)
How many workers would you hire if the wage rate were:


(1)
$100?


(2)
$77?


(3)
$60?


(4)
$50?


(5)
$12?

Table 6







Marginal

  Total
Marginal


Units of

Physical

Revenue
Product

Labor
Output
Product
Price
Product
Product

  1
  3

20

  2
  8

19

  3
13

18

  4
19

17

  5
25

16

  6
30

15

  7
33

14

  8
35

13

  9
36

12

10
36

12

11
35

—

12
34

—

Chapter 29 

1. Suppose someone made you a job offer you could not refuse—pleasant work, flexible hours, and the possibility of extremely high hourly wages. On a piece of graph paper draw your own labor supply curve. On the vertical axis list various hourly wages and on the horizontal axis list the number of hours you would be willing to work at these wage rates.

2. Ms. Rothblatt earned $500 a week in 1992, the base year. By 1999 she was earning $1200. If the consumer price index was at 125 in 1999, how much were Ms. Rothblatt's real wages that year, and by what percentage had they risen since 1992?

3. Mr. Gotti made $25,000 in 2003, the base year. In 2008 he was earning $70,000. If the consumer price index was 140 in 2008, how much were Mr. Gotti's real wages that year, and by what percentage had they risen since 2003?

4. Mrs. O'Brien made $2,000 a month in 2007, the base year. By 2011 she was earning $6,000 a month. If the consumer price index was at 200 in 2011, how much were Mrs. O'Brien's real wages that year, and by what percentage did they rise since 2007?

Chapter 30

1. How much is the value of a machine that provides an annual income of $800 when the going rate of interest is 16 percent?

2.
How much is the value of a building that provides an annual income of $120,000 when the going rate of interest is 6 percent?

3.
How much is the value of a machine that provides an annual income of $2,400 when the going rate of interest is 8 percent?

4.
What is the present value of $1,000 that will be paid to you in two years if the interests rate were 9 percent?

5.
What is the present value of $10,000 that will be paid to you in five years if the interest rate is 7 percent?

6.
What is the present value of one dollar six years from now if the interest rate is 10 percent?

7.
Find the net productivity of capital if sales = $1 million; labor costs = $300,000; fuel = $30,000; advertising = $10,000; insurance = $20,000; normal profit = $50,000; and capital cost = $500,000.

8.
Find the net productivity of capital if sales = $600,000; labor costs = $150,000; selling costs = $75,000; insurance = $5,000; and capital cost = $250,000.

Chapter 32

[image: image48.png]Pairs of jeans

France

6 8 10
Bottles of wine

12

14

16



Figure 1
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Assume the United States and France use the same amount of resources to produce jeans and wine. Figure 1 represents their production possibilities curves. Use it to answer questions 1 through 8.

1. What is the domestic exchange equation of the United States?

2.
What is the domestic exchange equation of France?

3.
The United States would be willing to trade 3 pairs of jeans for how many bottles of wine?

4.
France would be willing to trade 2 bottles of wine for how many pairs of jeans?

5.
The United States has a comparative advantage in the production of which product?

6.
France has a comparative advantage in the production of which product?

7.
The United States has an absolute advantage in the production of which product?

8.
France has an absolute advantage in the production of which product?

Figure 2

A.
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B.


[image: image51.png]Units of PCs

150

120

90

60

30

30

60

90

120 150 180 210 240 270 300

Units of Rolltop Desks




Assume Brazil and Argentina use the same amount of resources to produce coffee and wheat. Figure 2 represents their production possibilities curves. Use it to answer questions 9 through 16.

9.
What is the domestic exchange equation of Brazil?

10.
What is the domestic exchange equation of Argentina?

11.
Brazil would be willing to trade 3 bushels of coffee for how many bushels of wheat?

12.
Argentina would be willing to trade 4 bushels of wheat for how many bushels of coffee?

13.
Brazil has a comparative advantage in the production of which product?

14.
Argentina has a comparative advantage in the production of which product?

15.
Brazil has an absolute advantage in the production of which product?

16.
Argentina has a comparative advantage in the production of which product?

Chapter 33
Use the exchange rates listed in Table 1 to find how much it would cost in U.S. dollars and cents to make the purchases listed in problems 1 – 5.

1. A Honda Civic priced at 1.1 million yen.

2. A bottle of French wine priced at 420 francs.

3. A carton of Canadian paper priced at $10 Canadian.

4. A British video priced at 15 pounds.

5. A dutch bicycle priced at 300 euros.

Table 1

$1 U.S. will buy:
1.83 German marks

0.61 British pounds

1.43 Canadian dollars

8.19 mexican pesos

1.50 Swiss francs

6.14 French francs

109 Japanese yen

1.14 euros 
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